BVALUE SHOPPER GENERATION 3 XL BASKET #440300 (EXPLODED DIAGRAM)
JUNE 2013 — PRESENT

1143510 COVER
10392.32 HORN & ROCKER SWITCH 11435.20 ASM

11004.15 ROCKER SWITCH 11380 Q—1 0405.20
11005.15 KEY SWITCH

11480

@1162120

9157,10'\@
i
2R

%

16

6618.2

«Ql 1ete

s

[N
11063.2('); :\

10277.20 BASKET (2 SIGNS;
10277.21 BASKET (3 SIGNS

11127

% :Z@f

N
11157
111559@ “3“01

Approvals TR

AMIGO MOBILITY INTERNATIONAL, INC.

6693 Dixie Highway « Bridgeport, Ml 48722-9725
Phone: (800) 248-9131 « Fax: (800) 334-7274 « www.myamigo.com




VALUE SHOPPER GENERATION 4 XI. BASKET #440300 (EXPLODED DIAGRAM)
JUNE 2013 - PRESENT

&10405.20

11480

&1 1621.20

114356.10 COVER
11435.20 ASM

10392 ?2 ggRN & ROCKER SWITCH @/-11380

11004,
11005.156 KEY S\M

9157‘10-&.@

p-mam 20 10800.40

6618,2

.4
il

Il
11063 20; :‘

10277.20 BASKET 2 SIGNS,
10277.21 BASKET 3 SIGN

Yoot
10050.20
1

\3
2 Q008 9000

Approvals CIR

AMIGO MOBlLITY‘lNTERNATIONAI., INC.

6693 Dixie Highway « Bridgeport, M1 48722-9725
Phone: (800) 248-9131 » Fax: (800) 334-7274 » www.myamigo.com




Part #
3212
3603

6618.20
7361.22
7441
7541.20
7852.10
8216
8675
8969
9157.10
9768.20
9937.23
10050.20
10100
10277.20
10277.21
10346
10392.32
10394.20
10405.20
10516
10800.40
10947
10977.20
10984
11004.15
11005.15
11024
11063.20

JUNE 2013 — PRESENT

Description
Screw,hex washer 1/4-20 x 5/8 Ig
Nut,hex nylon insert 5/16-18
Bumper,bkt
Potentiometer, he comm
Circuit breaker,auto reset 25a
Wheel,stab 1 5/8
Wire,chgr to cntrl
Charger,24v 3a
Wire,ground
Cable,mpc hand control
Switch,seat
Wire,batt qc to cntrl
Column,std blk non-tilt
Bearing
Charger,24v 7a
Basket, XL (2 signs)
Basket, XL (3 signs)
Screw,phillips #8 x 3/4 Ig type b
Enclosure,w/horn & rkr sw
Strap,bkt support
Bracket,pwr cord holder
Boot,hand iwr
Sign,operation & safety english/spanish
Wire,cntrl interface
Wheel,rer 6 in
Cover,hand wire
Enclosure,w/rkr sw
Enclosure,w/key sw
Receptacle,ac
Sign,"for our valued members"

Part #
11125
11127
11155
11157
11168
11188.20
11235
11292VS-3-H
11294.20
11310
11339
11340
11380
11410
11435.10
11435.20
11467
11480
11541.20
11541.21
11621.20
11730
11733
11734
11735.20
11736.20
11760
11765
11766
269002

Description
Clip,wire guide
Mat,std VS3
Wheel,frt gear drive
Motor,frt gear drive
Brake,frt gear drive
Strap,chgr 7a
Wire,frt gear drive
Controller,VS
Bracket, XL bkt support
Key,axle
Washer,flat 17/32 id x 1 1/16 od
Nut,hex lock 1/2-20
Housing,encl (w/07361.22)
Axle,short VS3
Cover,seat pvc free
Seat,pvc free
Plate,hand back non tiit
Cord,pwr ac rtrct
Drive,frt gear w/bk & clips
Drive,gearbox
Strap,receptacle ac
Mat,std VS4
Spacer,pedestal
Axle,short VS4
Cover,frt
Bracket,bkt support
Screw,carriage 5/16-18 x2 1/2 Ig
Clip,wire guide circular
Clip,wire guide rectangular
Battery,12v 33a

Approvals  CJIR

AMIGO MOBILITY INTERNATIONAL, INC.

6693 Dixie Highway « Bridgeport, Ml 48722-9725
Phone: (800) 248-9131 « Fax: (800) 334-7274 « www.myamigo.com

Qty/unit

N B -~ B 24 AN W22 2 82 4 A a a a N 2 &4 @ a3 a ca a  ea



VALUE SHOPPER GENERATION 3 #440300 (WIRING DIAGRAM)

SEPTEMBER 2010 — PRESENT

SEAT SWITCH (N.O.)

) + (OPTIONAL) ENCLOSURE
9157.10 11051
11240.10
r11241.10 BAT1-;\E/RY
BLACK 77
| = e

HOUR METER

AC RECEPTACLE
11024

o, o
D lives mroUQ““\

BATTERY
12v

CHARGER
8216 OR 10100

BRAKE MOTOR

Approvals

AMIGO MOBILITY INTERNATIONAL, INC.

6693 Dixie Highway « Bridgeport, Ml 48722-9725
Phone: (800) 248-9131 « Fax: (800) 334-7274 « www.myamigo.com



	0149800 - present
	Value Shopper Generation 3 XL Wiring Diagram September 2010 - Present

